Work/Service			
	New plan		
	Revised plan		
	Cancelled plan		

# Procurement Plan Year 2563 with the Cost Estimate exceeding 500,000 Baht

Under Government Procurement and Supplies Management Act B.E.2560

#### DEPUTY GOVERNOR - FINANCE AND ACCOUNTING (CFO)

No.	Bid No.	Description	Cost Estimate	Bid Issue (Month/Year)	Remark
1		Consultancy Services for International Credit Rating	USD 80,000.00	Apr-20	USD 1 = THB 31.00

Remark: Please fill in all columns in English.

#### Meaning

Description Description of Work or Service / Project's name

Cost Estimate Cost Estimate / Medium Cost (Including VAT)

Bid Issue Bid Annoucement Issuance Date / Enquiry Issuance Date

٧	Work/Service			
$   \sqrt{} $	New plan			
	Revised plan			
	Cancelled plan			

# Procurement Plan Year 2563 with the Cost Estimate exceeding 500,000 Baht Under Government Procurement and Supplies Management Act B.E.2560

#### **DEPUTY GOVERNOR - ADMINISTRATION**

No.	Bid No.	Description	Cost Estimate Include VAT ( Baht)	Bid Issue (Month/Year)	Remark
1		Subscription fee of Software as a Service (SaaS): Project Portfolio Management	535,000.00	Oct-20	Procuring from a single source directly from its web site.

Remark: Please fill in all columns in English.

#### **Meaning**

Description Description of Work or Service / Project's name

Cost Estimate Cost Estimate / Medium Cost (Including VAT)

Bid Issue Bid Annoucement Issuance Date / Enquiry Issuance Date

# Work/Service

## Procurement Plan Year 2562 Under Government Procurement and Supplies Management Act B.E.2560

## Deputy รวส.

No.	Description	Estimated Price ( Baht)	Bid Issue (Month/Year)	Remark
	อผค.			
1	Supply and Construction of Transmission Line 230 kV Kabin Buri - Watthana Nakorn	304,200,000.00	Jan-19	
2	Supply and Construction of Transimission Lines 230 kV Ban Pong 2 - Kamphaeng Saen and Sectionalizing of 230 kV Tha Tako - Nong Bua Rawe to Bung Sam Phan Substation	107,960,000.00	Feb-19	
3	Supply and Construction of Transmission Lines 230 kV Chon Buri 2 - Bo Win, and Sectionalizing of 230 kV Ao Phai - Phan Thong to Chon Buri 2 Substation	131,400,000.00	Feb-19	
4	Supply and Construction of Transmission Lines 500 kV Surat Thani 2 - Thung Song, 230 kV Krabi - Thung Song (Re-Route at Thung Song), and 230 kV Thung Song (500/230 kV) -Thung Song (230/115 kV)	1,741,960,000.00	Mar-19	เลื่อนการจัดหามาจากปี 2561
5	Supply and Construction of Transmission Line 230 kV Khon Kaen 4 Junction - Khon Kaen 3	166,100,000.00	Apr-19	เลื่อนการจัดหามาจากปี 2561
6	Supply and Construction of Transmission Lines 230 kV Lumphun 3 - Chom Thong and Sectionalizing of 230 kV Mae Moh 3 - Chiang Mai 3 and 230 kV Mae Moh 4 - Lumphun 2 to Lumphun 3 Substation	217,100,000.00	May-19	
7	Supply and Construction of Transmission Lines 500 kV Pluak Daeng – Chachoengsao 2 and 500 kV Gulf PD Power Plant – Pluak Daeng	1,127,780,000.00	Jun-19	

No.	Description	Estimated Price ( Baht)	Bid Issue (Month/Year)	Remark
8	Supply and Construction of Transmission Lines 230 kV Bo Win - Ban Bueng 2 and Sectionalizing of 115 kV Bo Win - Ban Bueng to Ban Bueng 2 Substation	125,510,000.00	Sep-19	
9	Supply and Construction of Transmission Lines 230 kV Lumphun 3 - Chiang Mai 2 and 230 kV Lumphun 3 - Hang Chat	220,850,000.00	Sep-19	
10	Supply and Construction of Transmission Line 500 kV Thung Song - Songkhla 3 (From Thung Song to km. 105)	1,235,850,000.00	Nov-19	
11	Supply and Construction of Transmission Lines 500 kV Thung Song - Songkhla 3 (From km. 105 - Songkhla 3) and Sectionalizing of 230 kV Hat Yai 2 - Khlong Ngae to Songkhla 3 Substation	1,242,270,000.00	Dec-19	
12	Supply and Construction of 230/115 kV Watthana Nakhon Substation and Improvement of 230/115 kV Kabin Buri Substation	398,040,000.00	Feb-19	
13	Supply and Construction of 115 kV Udon Thani 2 Substation (GIS)	298,530,000.00	Feb-19	
14	Supply and Construction of 230/115 kV Chon Buri 2 Substation, Expansion of 230 kV Bo Win Substation, and Improvement of 230 kV Ao Phai and 230 kV Phan Thong Substations	528,580,000.00	Mar-19	เลื่อนการจัดหามาจากปี 2561
15	Supply and Construction of 230/115 kV Lumphun 3 Substation (GIS), Expansion of 115 kV Chom Thong Substation, and Improvement of 230 kV Mae Moh 3, 230 kV Mae Moh 4, 230 kV Chiang Mai 3, 230 kV Lumphun 2, 230 kV Chiang Mai 2 and 115 kV Hang Chat Substations	948,020,000.00	Mar-19	

No.	Description	Estimated Price ( Baht)	Bid Issue (Month/Year)	Remark
16	Supply and Construction of 115 kV Khon Kaen 1 Substation (GIS) and Improvement of 115 kV Khon kaen 2 Substation	676,780,000.00	Mar-19	
17	Supply and Construction for Expansion of 500/230 kV Pluak Daeng Substation and Improvement of 230 kV Rayong 2, 500 kV Chachoengsao 2 and 230 kV Ban Khai Substations	837,810,000.00	Apr-19	รวมประกวดราคา
18	Supply and Construction of Static Var Compensator at 230 kV Khlong Ngae Substation	909,500,000.00	May-19	
19	Supply and Construction for Expansion of 230/115 kV Nakhon Phanom Substation	295,320,000.00	May-19	
20	Supply and Construction of 230/115 kV Ban Bueng 2 Substation, Improvement of 115 kV Ban Bueng Substation, and Supply of Control and Protection Equipment for 230 kV Bo Win Substation	196,880,000.00	Jul-19	
21	Supply and Construction of 230/115 kV Rayong 4 Substation (GIS), Expansion of 230 kV Rayong 2 Substation, and Improvement of 115 kV Rayong 3 and Sattahip 1 Substations	1,364,250,000.00	Jul-19	
22	Supply and Construction of 230 kV Static Var System at Chaiyaphum 2 Substation	1,819,000,000.00	Aug-19	
23	Supply and Construction of 500/230/115 kV Bang Lamung 2 Substation (GIS) and Improvement of 500 kV Pluak Daeng, 230 kV Rayong 2 and 115 kV Chom Thien Substations	1,524,750,000.00	Dec-19	เลื่อนการจัดหามาจากปี 2563 เนื่องจาก ประกวดราคาแบบ 2 ซอง

No.	Description		Estimated Price ( Baht)	Bid Issue (Month/Year)	Remark
	ความหมาย				
	Description	รายละเอียดงาน / ชื่อโครงการ			
	Estimated Price	งบประมาณ / ราคากลาง (รวม VAT)			
	Bid Issue	วันที่สอบราคา / ประกาศประกวดราคา		_	